=
aX

At

y

FEE (1/2)

|

S=1:500
L ] ,
d -
7 [ ] 0
| DIRp 100 GX#4| L=288. 3m
(ﬁ‘\ﬁ7ktﬂ%1 . 50-28BAN - PPI-2EAT - o 25[REERT - & 20138 FF - ¢ 20 (13)-18EFr)
= ]
o
©
o =
o
e o)
Bh| >
Bl B2 T (6100)
ol
N?N ) ! 0071228
@}‘ | 20
= o 613 j
% — @13
EIN L] | Bl| —
= FAKERIC-6 (P17
ém} S D PP (¢[P0)L=2. 6m ' |_| ' L‘ l
— Ble [ soksmir=s
= E\E PP (¢[20) L=2-
— | 313 #aKEE El4 (¢ 20),
1 i (¢ 50) PR (@ 20)L=2. 6m L
PP($50)|=0. 3m l 13 1
VP (¢ 50)L=0. 8m 1 2 FBKERT-T (p40)
: A 0 - o [PP(®40)L=2.6m
Iifi{®20 $20 2
g 1
\M’\ 1 s 20 p $20
\ =S i
M m\ e A 1 1 1 T _
5~ T —
i " TR I
613 o3 00 ®13 $20 o o138
T (¢100) Lnﬂkg.‘ﬁﬁll
A 020 PP{& 0
M m X ,J I
[ $=1: 100
A— A~ B —B~
PP (¢ 20)L=1.0m PP (¢ 25)L=1. 0m HIOREIZA 294 XZ2RTET S,
3950 1900 ZF mE T K EE (B
3670 28D 1620 28 &5 A LA SH2EE KIFE25
o o ® | N I =% % )
3 3 KEE (%) ERZAMANEKERRIE
R BE 3ROk
DIP¢ 100 DIP¢ 100 — HETAEE HEOEE E‘Zﬁ (1/2) . ﬁ%ﬁ
T BEERGHE- 6 100 (CIP) BEEKGE - ¢ 100 CIP) — z i ; T( L
BEE% 7 X & ¢ 250 (MPBCG) Pl ————— BEKE " o _ =
BEZEH R B- ¢ 50 (LPSS) BERARE-6T5 | e BESENTT & R B HEES 1/8
$-$ 450 (19 5- 450 () SirEL




i B

FEE (2/2)

S=1:500

1| | O O N 10 O |
|
¢ 20
HBAKERT-9 (50 T ($50)
PP (50 L=}. 4m 513 VP (¢50) L=4. 4mLJ
\
AAKERBT-8 ($50) L c
PP (¢50)L=4. 4m 25 BA# T (¢150) «©
(=)
TS
—
] J\ =
= = — — = Aﬁ | S— - o = o ‘( | i o
— —— - = & _ B 2
3 — —
| — S
20 fa—
9} 13 $50 ®25 @40 13 =
v 1
BB T0 (¢25) r!a ,
qP(b25)L:2.0m C
1 ,‘ J—\T = g
l, B2 T (150)
¢ 50 #50
T
$=1: 100
C —C°
3950 XCOEEGA2H A XERTET B,
3670 28 ZF W E T K E EEXB
5 R LB SMEE KIS
. [CR | F ] I E 4 -
. MR AAEKERRTE
DIP ¢ 100 PR —— BEKEE
R HETOKEE & DELE EEE(2/2) - #EEE
BEER 7 R & ¢ 150 (LPGM) BRER/KIEE- ¢ 100(CIP) _— BREHRE
BEE% H R & ¢ 250 (MPBCG) PH —_—— BERKE %ﬁ R 7T( Eﬁ% 2/8
10171 | BERNTT
2xESR




At

y

GX @ 150
SEMRBUET 550
As#hZhR (Ft9) t=bcm g
MR T =B BATHETAY (13) t=5cm
AsTHEERR (SF19) t=bcm B B AR A (RC-40) t=20cm
RIPA 3
’ g
ekl ©)
ol o gl 8
[} g o
= o
DIP ¢ 154 @ &
D =

EHRT—T/

BRAER— b

RURY—T R
GX ¢ 150
550
SERBUET
AsEZE R (Ft9) t=bcm REIE
R R O 7 T ®B BEFRETAIY (13) t=5cm
AsEEZERR (F19) t=bcm \ P& A% E ARG (RC-40) t=200m
2 77 =
2K
|
A @ -
o S
2 o o o
oci I
g
o
DIP 6 15( @ &
/D =

ERART—T/

RYRYy—7

EERARS— b

EEHIRUVIERI AN

GX@ 100
BERRET 550
AsEiZkhR (F13) t=bcm REIE
R EIET T RE BEFHETAIY (13) t=5cm
As$BEERE (F19) t=5om \\ 8% | B 4 A (RC-40) t=20cm
o 2 :
g
o o S EIGIRER:
N8 S
DIP¢104 @ &
/D =

EWHRT—T

BEEH Y — b

KRY—T =—hH—
GX ¢ 100
550
SHERBUET REE
AstikiR (F4) t=5om %8 B FHETAY (13) t=5cn
ik 61 7 T B388 B AR (RC-40) t=20cm
AsEhZERR (F¥) t=bcm \
[y .. S
o
g
1
IO o s
8 o c,‘-"; =)
S| B
=4
=~ o
pipgiog | @ g
D g
ERETF—T
KURY—T —h—
GX ¢ 100
550
FERRET -
AsEREER (F49) t=Som £ BATHETAY (13) t=5en
Hizhi V1 o T P41 7 4R E (RC-40) t=200m
As&hZEhR (F1¥) t=bcm \
=) 77 =
(Yo} 3 §
mal @ -
SIS 8l &
= o
o
~ o
DlPdnon @ g
') S

EHRT—T/

RYRYy—7

TEE Dl

X—h—

S=1:20
Bt E
SERRET 550
AsEhZEh (F¥) t=bcm
SHEIRYIT KB BABRETAY (13)t=5cm
AsEi%EhR (F19) t=bcm \\ B% A& B ARG (RC-40) t=20cm
Sﬂ l 3
‘ g
2l o mE || D g &
o 3 _§ A
o
poso| | @ S
o) =
%%i%—j/ pERES S — b
HwKE
SERRET 550
AsEi%EhR (F19) t=bcm
SRR T KRB EEFHETALY (13) t=5cm
AsEHERR (F15) t=5cm \\ B8 A RA (RC-40) t=20cm
= 2o S
L o
_Eod R
gl o ma | | D] _| 8 8
© —3 S
poso| | @ S
Jo) =
ﬁﬂﬂii—j/

kEsmm s — b

®- - - BERA (RC-40)
@- - -EHRLAW

KCOEEIFA 291 XERTET B,

2 h £ T K & F £ B
SH2EE KIF25
I E 4 .
AR ZNREKESHETE
HEOHESE HERVIERIZER
s R [ERS HEES 3/8

ZTE4




y

ol
X
i
—+

sl (1/5) S

=B
S=1:200
ATEPEEHEX A2 8B EE X
$=1:100 $=1:100
o S 10 g (¢ 150) GXFs = 3
8 3 H )% (¢ 150) GXFs-1000 ;ﬁLEUJDI(dJWO)GXﬁA w]: 3
- M S 4 + (¢ 150) GXFz-39 #1100 X 22° 1/2) GXFY
AWK T EEDIPE ¢6” x 150 (& FE/$yF>) (-1-14 )| ‘ VA koL EE L1t (6 150) GXRY I (¢ 100X 22° 1/2) GX
2 ko —# (9150 == T 3% (8]]50 x 100) 6Xz (-1-1%)
2525 (¢ 150) GKHZ EE|(0150) GXEE-1K
B (¢ 150 x 45° |) GX 5 4 7 [ ¢ 150) GXFz-39
Hh (6 150 4b° ) GXTis
ZETFE(PI50x 150)XBEFTR] Y I Fo—IL R =iE L6 150) 6Xfi

Z Y& (¢ 150) GX#Z-1D00
A 18 (& 15p) GXFz

ﬁtﬁ‘hﬂi‘(‘tﬁJSO) GX

Ho) %
_BEBUKIEE ¢ 67DP=1. 20m ATER ] ‘{AZW _
0’75
FUKALYIS (6 100) S8R I % (6100 x 45° ) G (--17K)
AHIE(H100) ; z4 71620
RESXE VI T (¢ 100) 2877 & L 00T (¢ 100) GXF
BIZET (¢100) B (100 x45° ) GXAE T-h-14)
54F ($100)6XHz-29,
BEE ($100) GX-1&
Y 7 R U—ILHSE LI (4100) X2 !
543 (#100)6X-29, \ 2
EE ($100) GXHg-2%
543 ($100)6Xfr-29 i
q
B ($100) GXAz-2610 ‘ 0
# L OmI (¢4 100)GXAZ
¥ (100) GXAZ-200 R
#LOMI ($100)GXH || | ﬁ
Z % (¢ 100) GXFZ-2800 E_
L] ¢20
A i
¢13 "'M |
—’ EE ($100) GXHg-4%
XICOREIZA JPA XERTET S,
2w E T K EF XERB
& R LB SH2EE KIHE2E
®w # % i I = 4 -
[ KEE (FE) AAZAMARKERRISE
_—— BEEXKkEE
¢13 — HETAEE HENEE BELEREMR (1/5)
— B A RE
—_——— BEMAE . __ _ o
__________ P % R R HEES 4/8
SEEL




=L = W,
AxX BT X
e I \
2
et =5 v oks <
ECE MR (2/5) AT <
6 k
D— M2 [
i —@®
DEREHHH X
s=1: 1
<  fr
Syl S 13
B (4 100x 45° ) GXFZ (T--145)
&L OmI (¢ 1D0) 6XF B2 ($100%22° 1/2) GXFEs
B )% (¢ 100) GXIz—1550 f& (4100 x 22° 1/2) GXFs (R-h-1& BEE ($100) GXF-TA i
S 4 ¥ (¢ 100) Gxz-29 I
B[S (¢ 100x45° ) GXfE (3-1-1 &) BT (¢50)
54 T00) GXAZ—29 BIEL T (T5%50)
EE((¢100) GXHs-2 PAR DV +(¢50)-2{@
B I_E'.(:di ) GXFE-27 P JU7R (¢4 50) ¢ 20
S 4 H (¢ 100) GXJiz—29 BEHty# (50) I
B T (6100 x 100)|6XA G-A-) &) EERAY Ty F (650
Vo Fo— B2 LA (6100) G VP LA (¢ 50) [ 620
= B (- . o PP (¢{50) L=0. 3m
Z O (¢ 100) XL ERER G-1-14D EE ([ 100) GXH-44 VP (¢{50)L=0. 8m 19
o s FATHE (¢ 100 x 75) GXiz |
V2 kLR HE LAt (4 100) GXF 1 ¢ ks (4100 X 45° ) GXFig (-AH1A)
S 4 (¢ 100) GXFz-29 I AbbE (#100) 6xAE-2140
FEI% (4100) GXfiz—1000 4 U 0T (4100) 6XR2
%L OMT (4 100) GXF & ($100x 45° ) GXfig (T{h-14K) @
20 / BEE ($100) GXH-T4
0.43 ¢13 ¢ ¢.20 : D B
®t ~
! Za\)| %
_,_)i%%&n'xssazwmpec? I—u— P li/L" ;; b+
T~ -FF - ---~- S i - - - - " »
B VOE;NA 0 - — ° | WE) =P 125733 CIC- ¢ 125/ TR () 0284 f = C%B B‘:‘ﬂ;
af;@ - = I N A - - o b\ 3 od °
" ol 1% | g = ] b ¢4} < =) 3 Y nifom L Pt e b —ed e} —=
|
1 i i i
l ¢13 o3 A1b 919 S 4 + (¢ 100) GXfiz-{29 $20 ®13
545 (6100) ex;*z’:zg
% V7 kS —ILHZHE|L A (4 100) GY 2 @
REIK T ZEDIPE ¢ 100 x 100 (2 E/$ A% >) F-p-1 S 4|3 (¢ 100) GXfiz-29 FZHIE (H[100x 22° 1/2) GXFs R-p-14) | BHE (100X 45° ) GXifiz (-1~ 1) 5 A AL
‘/7g~>—»#(¢ EE (¢100) GXH-14 Z9E ($100) GXFz—1290 B (100 x45° ) GXTH (-1-17%) #_u 5 | %
LS (¢ 100) B4 (¢ 100) GXFz-2000) & L 00T (100) GXFY| & L O (6 100) 6Kz KEE (F2)
ESHE ($100%22° 1/2) GXg (R-H-14) H1% (¢100) GXA-1970 R BRANE e
FEOKEYIZ (6 100) BT —— RS 100 S ZYI%E (¢100) GXHz-200( S 4] (4 100) GXfiz—29 R —— HET R E
] Aig (o100 i (¢100) GX}}Z—ZOO] #% L 0T (4 100) XY =2 T % (4100 x 100) GX G--14) — L ED
BLE G T (¢ 10} 2R # L O (6 100) GXfiy B (6 100x22° 1/2) 6Xflp R-h-| & e (100 % 45° ) X R—H-10) 520 [E—— BEA A E
BAZE I (6 100) Z 41 (¢ 100) GXFiz-3400) S 4+ ($100) GXfz-p9 wLomz(eonex 0 | | 7 | Y—/—m= ENTT
[4 BYIE ($100) GXAE-1D0g ZlgiE ($p100) GXAE-1000
L O (6 100) x| FISEIE (¢ 100 x 45° ) GXfis R-p-14) NCOREEA 294 ZERETET B,
B (¢ 100%22° 1/2) 6XF (R-A-12%) % L 00T (¢ 100) GXFig . .
) i g - - L 2w E Tk EE ZER
B = - CERES - S 4+ (¢ 100) Gfig—2 (¢100)] 6X#z-2030
nﬁﬁ$ffﬁ| | nllaﬁEH BEIE (¢100] GXR-1500 || |54+ (4100) GXfiz—29 ,——J SH2EE KIE2E
S=1: 100 S=1: 100 1 L O o It 00y e F oL AR I® % .
W@1EH (6 75) H=100 FAAZARNEKEMRSRISE
gl,, & N Emoms | EEHME (2/5)
%_
F B (100X 22° 1/2) GXF BHE (¢ 100X 22° 1/2) GXig (-h-17) e R e REES 5/8
BHE (¢ 100%22° 1/2) GXFE R-1-15) B (¢ 100X 22° 1/2) GXF o
=




1l

=
nX

E%ﬁﬁﬂ(wg

S=1 :| k00
. $13
o1 $13 E‘
$13 ¢ 13
$20 — ]
] AN W fJ —
o13 q.
BKERI 6 (A13)
KBRS (420) + R JL53K# (o] 00 x 20)
3 1 537K (6100 20) o A Sl
PoKEY 77 bk (¢20)-31A PP (¢ 20)L=2. 6m
PRI (220 PY/y k($20313)
B Ky 77 b (¢ 19| e
3 K7 I~(¢20)J_7*ELIE 1 har R0
S Ao —ra7 (020 <
ﬂwﬁf eKERT A (¢20) ‘{m HBAKEHRT-T ($40)
% H KL 7k 42 (6100 x 20) ) 7K 5 7k 42 (¢ 100 x 50)
@ $20 p PSsKiE U 47 v b (¢20) 3@ ‘ﬁ 5907 (¢50x 40)
N EFIJL7K#$(¢20) b PARTYry b (¢40)-3{& @
613 PP (¢ 20)L=2. 6m o et (¢ 40)
SKY 4k (¢20) 620 ‘ PP (¢ 40)L=2. bm 1530
K7 F (020 FEmE K4 k(¢ 40)
AoH=+37 (62 SKY 7w b (¢ 40) FE LR
nim | :
i ' 7
| == o) — L
° od od od od [ b od od od o Nl o od e b od T2
i ¥ S e b ¥ o e = * R e = S g —
1 I v [
613 $13 - 613
$20 9
L
2 3
©) — (1) L ;3
%“7](%@%%11 (¢30) [ % (¢ 100) GXig-20% ' F-1-1%)
YK 53 7K 42 (b 100 % 50) %“7k5§%§1 -2 (¢20)
. 71//76mem
P2 7y b ($30) A b (¢20)-31@ ’
Pif 636 =3- Om B 1k K42 (6 20)
Sry)l;;:y(psm—sﬁi - EE(¢I72_O)L:1<.Q§)%) HAGEE T3 (525)
oK. Uy
B 47w | (¢ 30) SRR FA L5 SKY v k(¢ 20) E&AL ‘ ;j;:'\';jé j};ﬁj( 1(%92)(5)2%1@
— A Y —+a7($20) B 1E K42 (¢ 25)
| g,
Iy = DG N _
SO4oL (6B zane XCOEERA 2 P XEBETET B,
| s ply B H LT AKES R
& A L) SHEE KIBE2S
®w & % # I %4 .
e L2 NNk S R T
' — — BEER K E &
———— wmrxuw REOEE CEFMR (3/5)
’ — BB RE
P B3 Ok . _ _ o
630 _J __________ T % BB HEES 6/8
_l— ] 2xES




y

ol
X
i
—+

BAEHTI (950)
TSI (8100 x50)

PEAT YTy k(
TSI (950
P:L)I/fﬁ(liﬁgozl—?;ﬂil

SK 4 @ 50) Bt B Lk £
SK‘/’T/I~(¢50)J_?=LEE

Bt & & (4/9)

D

>

— =

#KEHRI-10 (¢25)
*le/ »7K 4% (¢ 100 x 25)
nKEV T J)I~(¢25) -3{&@

EF‘JJ:?H%(QS
PP (¢ 25)L=2. Om

¢ 20

HIKEHT-8 ($50) K7 v h (029 B (100X 45° ) GXAS|(R--125)
UK (9100 X 50) KyzotieoERna BB (100 % 45° ) 6Ky (-1
i do o0 o 547 ($100) G2 % (¢ 100) 6X-87K
ey o o
m EE|( ¢ 100) GXFE-44K Xz
SKV 4w (¢50) BB B AE 5
K949 k (¢50) EEME 5° ) GXFs (I-1-17)
D R L A M)
@ 00) GXF-1800
$40 I (4 100) GXF
. \
1 (L «'J\ L;l 0=
- =
. <<>> o/ <§> \ »  —
b e - = - S — e —— "
L I — I'E, i P i 4 i $ i i —}
B ﬂ ®13 $
$13 P13
’ &l $25
$50
H > 4+ (¢ 100) Ghiz—29
B (9100 xD2l| 1/2) GXFE 3-#H12) @
B (¢ 100) GX454& B (¢ 100 x 22°][1/2) 6XF (3-1-4)
S 4 F (¢ 100) GYiz—29 ]
BHE (¢ 100 x 22° T/2)]6XH I-1-14) V7 b= BIE L1 (4 100)GXFE
ﬂﬂunuz(moomxnz' & L 00T (4[100) GHAz
1% (¢ 100) GXFZ—-1000 )% (¢ 100) GXF| 35,10]
S £ + (¢ 100) GXFz—29 1 “
BhE (4 100% 22° 1/2) GXFE (-1-14K) 54 F($10006XR-29 | o
H N (RT Y LREY ’
W (75 H=100 3 XCOEEZA 29 NEETET S,
FAFTR % (¢ 100 x 75) GXfiz M . N
H 11+a(¢x)m EF WM LE T KEEXPB
&5 F AL SHERE KIE2E
®w & % # I %4 .
i prpean AAZABHEKEHRTE
’ I — B Bk i
— +E’rm“ HEOES EE MR (4/5)
[ | ——— wdizs
e - E%;:l:f # R BE | mEES | 18
$50
REEL




=L = 5\(

aX A
2
BoEEEMR (5/5) | _ S
— E&RE$HH[X
S=1: 200 =1 - 100
FER eI T3
S=1:100 . S
TN
s %[ =% T (6150 x 150) GXF (-1-14)
S, il & (9150x22° 1/2) GXFg R-1-14)
IL X = 5 E2E (4 150) GX
TFEDIPA G 150x 150 (£F/%y FL) Qri-14) v ko—)LE (¢ 150)
Y7 k—ILlE (4150) R T 2EDIPE 6 150 X 150 (R F /S w F ) R-1-1%)
25| ¢ 150) GXA
B (¢ 150X 45° ) GXF YT R —ILERIE L1t (4150) GXF
$13 BHE (¢ 150 x 45° — 2T (6150 x 150) GXF R-H-14)
54 F (¢150) GXFz-39
1% L 00T (4 150) GXFz B 1% (b 150) GXF-2260
E 1% (b 150) GXF-2030 L OMT (4 150) 6Kz
S 4+ (¢ 150)GXFz-39 BHE (150X 45° ) GXFS (R—h-14%)
BHE (150X 45° ) GXFig (T--14)
S 4 + ($150) GXfiz—39
| ‘ B 4)% (¢ 150) 6XA-3000
02 L OANT (¢ 150) GXfz
Y| 84 (¢ 150) GXAZ-240
TBUK A1 (¢ 150) Sk ) Z 90 ($ 150) GXFg—2940
* H 18 (¢ 150 47 1% L O ( 150) GXF BT (¢50)
BESRE U1 T ([150) 265 FF 3 - e 50
BAZET (¢ 150) VPI LR (¢ 50) -3{@
,/// ' VP (¢ 50)L=4. 4m
'/"'\ ‘
— ———
O Wy (\?@W —
= = //; =
ey T E
b = = =3 = — - - -@__ @u : : AL S, —\_L@q
ﬁ n T + t L I B
ECERT G
d40
% 5118 (6 150) GXIZ
$13 B 4% (¢ 150) GXfiz—1000 — ]
%) B 4 + (¢ 150) GXF5-39
00) GXftg -4 7 k=L 248 L (8 150) 6K
BEE ($100) GXF-34
#E L OM0T (¢ 100) GXHz # LZHBEE (¢ 150 x 100) GXF — 2 1% (¢ 150 x 150) GXFz (R-H-14)
FRE0%E (¢ 100) GXAZ-3560 B (¢ 160X 45° ) GXFz R-h-1&K) BHE (¢} 150 x 45° ) GXFiz 3-h-14)
5 1 F (¢ 100) GX#2-29 S 4 F (¢ 150) GXFz-39
fhE (100 x45° ) GXfZ (R-H-14K) R (¢ 150) GXHz-1860) ||| B KL LI 5+ (P 150) S 85 E R
BHE (100X 45° ) GXfig (-1~ 14)
#E L 0T (¢ 100) GXH2 BAZET (¢ 150)
)% ($ 100) GXFz-2000 = & T T (b 150) 2 7
5 1 + (6 100) GXFz-29 A B (P15 KCDOREEA 294 ZERTET B,
BEE (4100 % 45° ) X% (R-1-14) : :
& (100 45° ) GXfig (R-B-14) }ﬁL,D)]uI(¢150)GXﬂJ 2 W LT KEEF ER
/‘g - & i SHEE KIZ2S
| I 14— [ £ ko T
_avf—ﬂm)—bx ;2;¢]00) S-Sk — —_— KEE (HH) ® A ﬁ;’LZWiﬂWﬁE?}(%*ﬁE&I$
_—— B K3
Ak (R T ) R — HEFAKEE HEOEE EEEEMAXK (5/5)
%dm e ——_.’, RS AE
= (¢ 100 x 75) GXFs JE—— Ehiﬁﬁ;k%‘ & R = S— o8
""""" BEERNTT
2xES




	図面一式
	1
	2
	3
	4
	5
	6
	7
	8

	7

